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(a) Complete this table of values for the function f{x) = ¢ —x%, x # 0.

x| 3| 2| a|os|w02f|o2fos| 1|23

) |-933| 45| 2 |- 496 35 |-8.67
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(b) Draw the graph of f(x)= 1 —x* for 3 <x=<-02 and 02=x=3
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(a) One day, Maria took 27 minutes to walk 1.8km to school.
She left home at 0748,

(i) Write down the time Maria arrived at school.

Answer(a)(i) Y]
(i) Show that Maria’s average walking speed was 4km/h.

Answer(a)(a)

2
() Another day, Maria cycled the 1.8km to school at an average speed of 15km/h.

@ Calculate the percentage increase that 15km/h is on Maria’s walking speed of 4km/h

Answer()(i) % [3]
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() Calculate the percentage decrease that Maria’s cycling fime is on her walking fime of
27 minutes.

Answer(B)(i) % [3]
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(i) After school, Maria cycled to her friend’s home.
This took 9 minutes, which was 36% of the time Maria takes to walk o her friend’s home.

Calculate the time Maria takes to walk to her friend’s home.

Answer(b)ii) min [2]
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@

4, B, C, D and E are points on the circle centre O.

Angle ABD =27°

Find

(@) angle ACD,

(i) angle 40D,

(i) angle AED.

Answer(a)(i) Angle ACD =

Answer(a)(i) Angle 40D =

Answer(a)(ii) Angle AED =

NOTTO
SCALE

n

n

n
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‘The diagram shows quadrilateral KZM.

KL=45cm, LN=32cm, angle KLV = 100° and angle NLM = 67°

NOTTO
SCALE
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@ Calculate the length KN.

Answer(b)@) KN = m [4]
(i) The area of triangle LMN is 324 e’

Calculate the length LM.

Answer(b)(i) LM = m [3]
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(i) Another triangle X7Z is mathematically similar to triangle ZMN.

M
3 i3
pe NOTTO
SCALE
z
N

XZ=16cm and the area of triangle LMN is 324 c’.

Calculate the area of riangle XYZ.

Answer(b)(iii) e [2]




image1.png
f)=x2+x-3 g =2u+7 hx)=2"

(@) Solve the equation f(x)=0.
‘Show all your working and give your answers correct to 2 decimal places.

Answer(a) x= or x= “
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®) fgl)=p+gx+r

Find the values of p, g and .

r= Bl
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© Findg ()

Answer() g = ]
(@ Find.x when h(x) = 025

Answer(d) x= m

(&) Find hhn()
Give your answer in standard form, correct to 4 significant figures.

Answer(e) ]
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@ () Solve 2(3x-7)=13

Answer(a)(i) x= Bl

(i) Solve by factorising ¥~ 7x+6=0

Answer(a)(ii) x = or x= Bl
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Answer(a)(ii) x =








